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S-Plus

Hierarchical Algorithms

agnes
diana
mona
mclust
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S

agnes,.kmeans

Partitioning Algorithms

kmeans
pam
clara
fanny

S-PLUS Guide to Statistics for Windows
Vol.2 Chapter23
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Agnes
u “average” (group average method)
“single” (single linkage)
“complete” (complete linkage)
“ward” (Ward‘s method)
“weighted” (weighted average linkage)

| (Single Linkage clustering method)

| (UPGMA clustering method)

| Ward (Ward's clustering method)
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kmeans

kmeans

kmeans(data, centers, iter. max=10)

iter.max)

pam,fanny

S-PLUS help

4 g e |«

17




Identifying Key Issue.

kmeans(data, centers, iter.max=10)
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Cluster Analysis For Application, Michael R. Anderberg ,1988

S-PLUS kmeans help

When deciding on the number of clusters, Hartigan (1975, pp 90-91) suggests the following
rough rule of thumb. If k is the result of kmeans with k groups and kplusl is the result with
k+1 groups, then it is justifiable to add the extra group when
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